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41. The Act to make daughters an equal co-heir | 46.
with the sons was enacted in :
(a) 1955
(b) 1956
(¢) 1961
(d 1975
42, Who among the following was the first | 47,
Viceroy of India under British Rule ?
(a) Lord Dalhousie
(b) Lord Cornwallis
(¢) Viscount Canning
(d) Earl of Mayo
48.
43. Which one of the following Indian cities was
labelled as ‘Urbs Prima in Indis’ after the
opening of the Suez Canal in 1869 and its
links with the world economy ?
(a) Bombay
(b) Madras
(c) Calcutta
(d) Surat 49,
44. Which one of the following was the main
purpose of the Lottery Committee (1817)
formed in Calcutta ?
(a) Regulating Club Lotteries
(b) Drawing lots for military recruitment
(¢) Organizing town planning
(d) Checking street gambling
45. Which one of the following was not a Shaiva | 50-
tantric sect ?
(a) Sahajiyas
(b) Kapalikas
(c) Kalamukhas
(d) Nathas
KLFG-U-VBY (13-A)

At the Second Round Table Conference,
who among the following led the FICCI
delegation ?

(a) J.R.D.Tata

(b) Homi Mody

(c) J.L. Bajaj

(d) G.D. Birla and Thakurdas

Who among the following headed the Indian
States Committee formed in the year 1928 ?

(a) Motilal Nehru

(b) Sir Harcourt Butler
(¢) Ian Copland

(d) M.A. Jinnah

If the sum of five consecutive even numbers is
equal to the product of first five natural
numbers, then which one of the following is
the largest of those even numbers ?

(a) 30

(b)) 24
(c) 26
d 28

In a group of 30 students, each student has
opted for at least one of the two subjects,
Hindi and English. Twelve of them have opted
for Hindi and twenty-two have opted for
English. The number of students who have

opted for only English is :
(a) 22

(b) 18

() 12

d 8

The sum of the numbers 3, 6, 9, 12, ... up to
the 20" term is :

(a) 600
(b) 1260
(c) 630
(d 960
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